ZEITEEN

AOSRX ILITL— Jd—X FEOE=F TE BTHEH
START 7«47 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zo0 | e&57 | KB W& 41 7 s Bz 5.7 9 B X X 6.5 10 Bl EZ 11.0 15
2 7:06 | 7:03 EB8B BE 5.6 8 AXBE ¥-— 7.6 11 AGHBEIEBE 8.3 12 k& &2 10.0 14
3 712 | 700 | A L £ 3.8 6 NE FF 6.5 10 B & i 9.6 13 WE ORH 10.0 14
4 718 | 715 | T 14 4.4 7 # KX & 5.8 9 n 5 14 10.0 14 EHESES 10.6 14
5 724 | 721 | [ R & 3.4 6 EX & 5.5 8 mA =B 6.2 9 FH 5% 10.0 14
6 730 | 727 | HB EBH 6.3 9 8 W ES 5.2 8 a1l KA 9.6 13 Wi =& 11.4 15
7 736 | 733 | B 1§ +1.0 1 sl BE 45 7 iE 2 8 6.0 9 FH BE 6.6 10
BOSRX wILITL— J—X B E=>EUh RTEH
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zo0 | 657 | K M F 12.0 13 BE® FBxX 15.5 17 e HA 18.6 21 ER 2 206 23
2 706 | 703 | Il B b= 12.0 13 L1 S B 19.4 22 Ho #& 211 24
3 7:12 | 7:09 M BT 13.0 14 AR —A 13.3 15 AE BB 14.1 16
4 718 | 715 | o 12.2 13 X E7 12.7 14 % K Ei 12.7 14
TF FvrT4ESHTIL— J—X EUB=FDE LTER
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7:00 | 6:57 H 2 = 8.9 14 Hea FAK 11.7 17 | = 12.2 18
2 706 | 703 | P9 B = 6.1 10 EH & 10.9 16 RE® RBE=x 14.9 21
3 712 | 700 | B B = 7.9 13 MHAERF 7.4 12 W =F==E 10.3 16
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